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ANGLES: PARALLEL LINES
(]
Instructions:
- Use a black ink pen to answer all questions
- Fill your name in the section below
- Answer the questions in the spaces provided
- Show your working out for all answers

Materials Required:
- Pen
- HB Pencil
- Ruler (in centimetres and millimetres)
- Protractor
- Compass
Advice:
- Carefully read the question before attempting to
answer it
- Be vary of time and try to answer every question
- If you have enough time in the end, go back and
check your answers. A good way to check your
answers is to retry the question with the hope of

getting the same answer as before without looking
at your working out from before

Information:

- The marks allocated for each question are
displayed within brackets — utilise this information to

gauge the appropriate amount of time to dedicate to

- Questions marked with an asterisk (*) will assess
your written communication; be careful of spelling,
punctuation and grammar with these questions

each question

NAME:

More information and resources available at www.BishopsOnlineTutoring.com
For video tutorials check us out on YouTube, Instagram and TikTok @Bishops_Online_Tutoring



Diagram NOT
accurately drawn

o>
D

E\ 479/
G

ABC and DEF are parallel lines.
BEG is a straight line.
Angle GEF =47 °.

Work out the size of the angle marked x.

Give reasons for your answer.

DER = 4>° o Opposite ongles are equal
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Siace co - \ntecror o“"(’)\es
| 80 — 4} = x
X = 133

(3 marks)
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Diagram NOT
accurately drawn
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DE is parallel to FG.

(1) Find the size of the angle marked »°.

1)
(i1) Give a reason for your answer.
AHQ(‘V\O\\'(’. ..... ow\E)\QSQFQ ...... d ‘U—*"‘L
........................................................................................................................... o
(3 marks)
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AQB, CRD and PQRS are straight lines.
AB is parallel to CD.
Angle BOR = 113°.

(a) Work out the value of x.

QRD =180 -11% = b7 (o - interior O\V\S\Q_S)

X=063% as CRS wdl QD oare
Opposiie angles

(b) Give reasons for your answer.

Co-inxecior. ongles. .. Angle x_ ound...
SQRD..A0e..oppesHE. . ang )R 5. and Thus... AR equel

(4 marks)
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(a) 1) Find the value of x.

i) Give reasons for your answer.

(b) 1) Find the value of y.
‘3 = |80 -5
g s

i1) Give reasons for your answer.

Diagram NOT
accurately drawn

Oppes'tt onnles are eqund_,
Co-interfor angles add up

(6 marks)
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Diagram NOT
accurately drawn

ABCD is a parallelogram.
Angle ADB = 38°.

Angle BEC =41°.

Angle DAB = 120°.

Calculate the size of angle x.
You must give reasons for your answer.

ARD = 21° as oangles ‘N o +rn\0m\¢)|c N wp to (&X0°
28 ¥+ 1o = IS8, (B0 - IS8 = LT
CDR = ARD oo ‘H/\Q.&'FQ opposite W‘S\“ andh Haus equol

DeC = 139 g ongles on o stuight line equak +o 1507

180 - 4| = 139

|34 + 2T = \pl

Ans\& X = \80—‘6\ - ‘QO

——

(4 marks)

More information and resources available at www.BishopsOnlineTutoring.com
For video tutorials check us out on YouTube, Instagram and TikTok @Bishops_Online_Tutoring



*6.

Diagram NOT
accurately drawn

CDEF is a straight line.
AB is parallel to CF.
DE = AE.

Work out the size of the angle marked x.
You must give reasons for your answer.

REF = |80 - 38 = (W2 LCO’if\fUiof O\v\a\ts>

("

De A |BO —jyz = 38 o c\ns\es on o
Stoioht Lne - equak 4o |80°

&'ASQ angles in soceles tonnle  are  equake
..o 180 -38 = 147, ML -2 = F)

AHS\Q X = 180 -3 = 10 aos angles o

n o

Sh‘o\?sw\— \ine. add wp to 1RO

(4 marks)
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C Diagram NOT
accurately drawn

ABC and DEFG are parallel.
AEH and BFH are straight lines.
Work out the size of the angle marked x°.

GFH = S2° os oal4ernnte omsles Are equak
GEH = 28° a9 opposite angleS are egqual

DF H 180 - ST = 123° os angles on o
S-\'(‘o\\\e)l'\‘\' Ihe addk wp +o 180°

vqng\es In & +m‘o\n6\?. = 1g0°
.ox=180- 123 -8 = 25

X = 1LS°

(3 marks)
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